Tuggen Partridge ILLUSTRATION AND DESIGN Wholesale Line Sheet 2025



SERIES	TITLE	CODE	CARD SPEC	PACK SIZE	WHOLESALE PRICE (PER CARD)	WHOLESALE PRICE (PER PACK)	RRP (PER CARD)
Allotment	Allotment	IP-C-ALL-01	150mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Certified Board Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Allotment	Allotment Tipi	IP-C-ALL-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Allotment	Vegetables	IP-C-ALL-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Cake Making	IP-C-BIR-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Cake Decorating	IP-C-BIR-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Birthday Crown	IP-C-BIR-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Raspberry Cake	IP-C-BIR-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Homemade Cake	IP-C-BIR-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Tractor Cake	IP-C-BIR-06	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Birthday	Spotty Cake	IP-C-BIR-07	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50





SERIES	TITLE	CODE	CARD SPEC	PACK SIZE	WHOLESALE PRICE (PER CARD)	WHOLESALE PRICE (PER PACK)	RRP (PER CARD)
1				'	,	, , ,	,, ,,
British Widlife	Oak Tree	IP-C-BRI-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Beaver	IP-C-BRI-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Brown Trout	IP-C-BRI-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Goshawk	IP-C-BRI-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Red Deer	IP-C-BRI-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Fallow Deer	IP-C-BRI-06	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Sika Deer	IP-C-BRI-07	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
British Widlife	Muntjac Deer	IP-C-BRI-08	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Day	IP-C-CHR-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Presents	IP-C-CHR-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Tree	IP-C-CHR-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Wreath	IP-C-CHR-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Mince Pies	IP-C-CHR-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Father Christmas Boy	IP-C-CHR-06	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Christmas	Christmas Tree Elf	IP-C-CHR-07	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50







SERIES	TITLE	CODE	CARD SPEC	PACK SIZE	WHOLESALE PRICE (PER CARD)	WHOLESALE PRICE (PER PACK)	RRP (PER CARD)
Flowers	Sunflowers	IP-C-FLO-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Summer Bouquet	IP-C-FLO-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Autumn Vase	IP-C-FLO-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Flower Meadow	IP-C-FLO-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Daffodil Jug	IP-C-FLO-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Hand Tied Bouquet	IP-C-FLO-06	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Flowers	Tulips in the Kitchen	IP-C-FLO-07	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hastings	The Crown, Hastings	IP-C-HAS-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hastings	Judges Bakery, Hastings	IP-C-HAS-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hastings	Butlers Emporium, Hastings	IP-C-HAS-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hastings	Mermaid Fish & Chips, Hastings	IP-C-HAS-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hastings	Roberts Rummage, Hastings	IP-C-HAS-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50





SERIES	TITLE	CODE	CARD SPEC	PACK SIZE	WHOLESALE PRICE (PER CARD)	WHOLESALE PRICE (PER PACK)	RRP (PER CARD)
Hobbies	Gardening	IP-C-HOB-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Yoga	IP-C-HOB-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Reading	IP-C-HOB-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Running	IP-C-HOB-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Cycling	IP-C-HOB-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Swimming	IP-C-HOB-06	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Hobbies	Golf	IP-C-HOB-07	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Plants	Monstera Deliciosa	IP-C-PLA-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Plants	Pilea Peperomiodes	IP-C-PLA-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Plants	Maranta Leuconeura	IP-C-PLA-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Plants	Oxalis Triangularies	IP-C-PLA-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50





SERIES	TITLE	CODE	CARD SPEC	PACK SIZE	WHOLESALE PRICE (PER CARD)	WHOLESALE PRICE (PER PACK)	RRP (PER CARD)
Ticehurst	The Bell, Ticehurst	IP-C-TIC-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Ticehurst	The Art Bunch, Ticehurst	IP-C-TIC-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Ticehurst	Buy The Weigh, Ticehurst	IP-C-TIC-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Ticehurst	The Old Haberdashery, Ticehurst	IP-C-TIC-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Ticehurst	Greenfinch, Ticehurst	IP-C-TIC-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Tonbridge	The Bakehouse, Tonbridge	IP-C-TON-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Tonbridge	65mm Coffee, Tonbridge	IP-C-TON-02	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Tonbridge	Tonbridge Castle, Tonbridge	IP-C-TON-03	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Tonbridge	The Old Fire Station, Tonbridge	IP-C-TON-04	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Tonbridge	Fuggles Beer Café, Tonbridge	IP-C-TON-05	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50
Wedding	Pergola	IP-C-WED-01	148mm x 105mm Blank Inside 300gsm Textured Printed in UK FSC Approved Recycled Kraft Envelope	6	£1.30	£7.80	£3.50







Placing an Order

Please get in touch with me by email to place your order.

If you have any questions please contact me prior to ordering via email or phone.

Please include your delivery and invoice address and contact name and phone number.

Email: hello@imogenpartridge.com

Phone: 07999137672

Terms & Conditions

Minimum order: £50 with £10 carriage*

Carriage paid: £150*

Packsize: as stated in the product listings

*UK Mainland only, for orders outside the UK mainland carriage will be charged at cost. Please enquire for a quote.

Payment terms: Proforma

Please note that I am not VAT registered.

Lead-time: 12-14 working days from receipt of payment. Lead times for large orders or at busy times of the year may be longer, I will always let you know when I confirm your oder. Please get in touch if you have a deadline in mind.

Returns: damaged or faulty products must be reported within 7 days with photo evidence

All cards are plastic-free and packaged with eco-friendly materials

Cards are supplied 'naked' to minimise packaging and waste, however card clasps or cello bags can be provided if neccessary, please get in touch to confirm requirements and request an adjusted quotation.

Stay Connected

It would be great to connect on social medai. If you share any of my products or displays incorporating them, I would love it if you could tag me so I can share too.



